This report contains the transfers results.

Contest Name

Ward 9 - Johnstone North-Kilbarchan-Howwood and Lochwinnoch

Valid Votes
Positions to be Filled
Quota

6,095 4 1,220

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Sarah Elizabeth ANDERSON	Scottish Green Party	259
Derek BIBBY	Scottish Labour Party	1,204
Bill BINKS	Scottish Conservative and Unionist	1,062
Andy DOIG	Independent	890
William DUFF	Scottish Liberal Democrats	82
Christopher GILMOUR	Scottish Labour Party	613
Geoffrey Richard KNOWLES	Scottish Socialist Party	25
Cheryl O'BRIEN	UKIP	32
Emma RODDEN	Scottish National Party (SNP)	1,099
Graeme Ramsay STOCKTON	Scottish National Party (SNP)	829

Total 6,095

This report contains the transfers results.

Stage 2 - Exclusion of Geoffrey Richard KNOWLES

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah Elizabeth ANDERSON	4	1.00000	4.00000
Transfer to Derek BIBBY	3	1.00000	3.00000
Transfer to Bill BINKS	0	0.00000	0.00000
Transfer to Andy DOIG	2	1.00000	2.00000
Transfer to William DUFF	1	1.00000	1.00000
Transfer to Christopher GILMOUR	3	1.00000	3.00000
Transfer to Cheryl O'BRIEN	1	1.00000	1.00000
Transfer to Emma RODDEN	7	1.00000	7.00000
Transfer to Graeme Ramsay STOCKTON	1	1.00000	1.00000
Value of non-transferable ballot papers			3.00000
	Total		25.00000

This report contains the transfers results.

Stage 3 - Exclusion of Cheryl O'BRIEN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah Elizabeth ANDERSON	1	1.00000	1.00000
Transfer to Derek BIBBY	2	1.00000	2.00000
Transfer to Bill BINKS	20	1.00000	20.00000
Transfer to Andy DOIG	6	1.00000	6.00000
Transfer to William DUFF	0	0.00000	0.00000
Transfer to Christopher GILMOUR	0	0.00000	0.00000
Transfer to Geoffrey Richard KNOWLES	0	0.00000	0.00000
Transfer to Emma RODDEN	2	1.00000	2.00000
Transfer to Graeme Ramsay STOCKTON	0	0.00000	0.00000
Value of non-transferable ballot papers			2.00000
	Total		33.00000

This report contains the transfers results.

Stage 4 - Exclusion of William DUFF

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah Elizabeth ANDERSON	17	1.00000	17.00000
Transfer to Derek BIBBY	19	1.00000	19.00000
Transfer to Bill BINKS	17	1.00000	17.00000
Transfer to Andy DOIG	14	1.00000	14.00000
Transfer to Christopher GILMOUR	5	1.00000	5.00000
Transfer to Geoffrey Richard KNOWLES	0	0.00000	0.00000
Transfer to Cheryl O'BRIEN	0	0.00000	0.00000
Transfer to Emma RODDEN	3	1.00000	3.00000
Transfer to Graeme Ramsay STOCKTON	1	1.00000	1.00000
Value of non-transferable ballot papers			7.00000
	 Total		83.00000

### Renfrewshire Council

# Transfers Report

This report contains the transfers results.

Stage 5 - Surplus of Derek BIBBY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah Elizabeth ANDERSON	31	0.00651	0.20181
Transfer to Derek BIBBY	0	0.00000	0.00000
Transfer to Bill BINKS	77	0.00651	0.50127
Transfer to Andy DOIG	153	0.00651	0.99603
Transfer to William DUFF	0	0.00000	0.00000
Transfer to Christopher GILMOUR	788	0.00651	5.12988
Transfer to Geoffrey Richard KNOWLES	0	0.00000	0.00000
Transfer to Cheryl O'BRIEN	0	0.00000	0.00000
Transfer to Emma RODDEN	31	0.00651	0.20181
Transfer to Graeme Ramsay STOCKTON	30	0.00651	0.19530
Value of non-transferable ballot papers			0.77390
	Total		8.00000

This report contains the transfers results.

Stage 6 - Exclusion of Sarah Elizabeth ANDERSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Derek BIBBY	0	0.00000	0.00000
Transfer to Bill BINKS	8	1.00000	8.00000
Transfer to Andy DOIG	4	0.00651	0.02604
Transfer to Andy DOIG	53	1.00000	53.00000
Transfer to William DUFF	0	0.00000	0.00000
Transfer to Christopher GILMOUR	12	0.00651	0.07812
Transfer to Christopher GILMOUR	31	1.00000	31.00000
Transfer to Geoffrey Richard KNOWLES	0	0.00000	0.00000
Transfer to Cheryl O'BRIEN	0	0.00000	0.00000
Transfer to Emma RODDEN	3	0.00651	0.01953
Transfer to Emma RODDEN	87	1.00000	87.00000
Transfer to Graeme Ramsay STOCKTON	3	0.00651	0.01953
Transfer to Graeme Ramsay STOCKTON	48	1.00000	48.00000
Value of non-transferable ballot papers			54.05859
	Total		281.20181

### Renfrewshire Council

# Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Christopher GILMOUR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah Elizabeth ANDERSON	0	0.00000	0.00000
Transfer to Derek BIBBY	0	0.00000	0.00000
Transfer to Bill BINKS	106	0.00651	0.69006
Transfer to Bill BINKS	96	1.00000	96.00000
Transfer to Andy DOIG	153	0.00651	0.99603
Transfer to Andy DOIG	134	1.00000	134.00000
Transfer to William DUFF	0	0.00000	0.00000
Transfer to Geoffrey Richard KNOWLES	0	0.00000	0.00000
Transfer to Cheryl O'BRIEN	0	0.00000	0.00000
Transfer to Emma RODDEN	55	0.00651	0.35805
Transfer to Emma RODDEN	65	1.00000	65.00000
Transfer to Graeme Ramsay STOCKTON	13	0.00651	0.08463
Transfer to Graeme Ramsay STOCKTON	25	1.00000	25.00000
Value of non-transferable ballot papers			335.07923
	Total		657.20800

### Renfrewshire Council

# Transfers Report

This report contains the transfers results.

Stage 8 - Surplus of Emma RODDEN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah Elizabeth ANDERSON	0	0.00000	0.00000
Transfer to Derek BIBBY	0	0.00000	0.00000
Transfer to Bill BINKS	2	0.00022	0.00044
Transfer to Bill BINKS	12	0.03448	0.41376
Transfer to Andy DOIG	4	0.00022	0.00088
Transfer to Andy DOIG	42	0.03448	1.44816
Transfer to William DUFF	0	0.00000	0.00000
Transfer to Christopher GILMOUR	0	0.00000	0.00000
Transfer to Geoffrey Richard KNOWLES	0	0.00000	0.00000
Transfer to Cheryl O'BRIEN	0	0.00000	0.00000
Transfer to Emma RODDEN	0	0.00000	0.00000
Transfer to Graeme Ramsay STOCKTON	47	0.00022	0.01034
Transfer to Graeme Ramsay STOCKTON	1,108	0.03448	38.20384
Value of non-transferable ballot papers			3.50197
	Total		43.57939

This report contains the transfers results.

Stage 9 - Exclusion of Graeme Ramsay STOCKTON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah Elizabeth ANDERSON	0	0.00000	0.00000
Transfer to Derek BIBBY	0	0.00000	0.00000
Transfer to Bill BINKS	5	0.00022	0.00110
Transfer to Bill BINKS	4	0.00651	0.02604
Transfer to Bill BINKS	35	0.03448	1.20680
Transfer to Bill BINKS	27	1.00000	27.00000
Transfer to Andy DOIG	9	0.00022	0.00198
Transfer to Andy DOIG	8	0.00651	0.05208
Transfer to Andy DOIG	342	0.03448	11.79216
Transfer to Andy DOIG	316	1.00000	316.00000
Transfer to William DUFF	0	0.00000	0.00000
Transfer to Christopher GILMOUR	0	0.00000	0.00000
Transfer to Geoffrey Richard KNOWLES	0	0.00000	0.00000
Transfer to Cheryl O'BRIEN	0	0.00000	0.00000
Transfer to Emma RODDEN	0	0.00000	0.00000
Value of non-transferable ballot papers			586.43348
	Total		942.51364